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1. Michael. Bonin, ‘Bazar’. In: Encyclopedia Iranica. VoL.III. Fascicle.7, 1987. p.20. 



 

 

��
���
���
�	

�
�
�
����

��
�
	
����
���
��

���
��
���
��

���
��
�

��
��

 

Y 

 

���0�3�������Z�
��m���U���#='�%��������������1�����8�����3-���0m����-�������������0��-�#='��-��
�%�-���3�
�-��
�������0����U
�A'�������)��"�]��3�E�)�9�3�
���0������
�D 3�rk'�0���Z��
����v���0���31���/#���m��

������L1��
�����3��������8��������������Z�)�931���q��
�'�0���3���&�
�'��$#�W����������-������=-'
���31��)m�3���W<������
�%�����$��*����9�����
��Z�������H���3-7�����-���-�=�?������8���-�9��

��)m��3��������w3<����=f.�����9M�1��e��N�������0���������-<��>��`
��-����2�����)31��)�9�����-9
���0�U4��888��������@���'����0�������=���0����9���������3��
���
�31�����������������3 ���2='�-�Z���

��������;@2��=>�����
��3��������
�%����/#�]��)�3������L9�0�U�.0���������(�-��2��0�)��"�]�����3 ���-�
����
�������Z�8�����
���>�����
�/2�����)31��5�3������L��.�s�93�����
�����
�%���3�����0�����3�D?���3-��%�

���:�$��)�9%�����=>����������
�7����3��L9��Z�)�9�3�
����Z����s�9�����>���8���-���%��0
�����3�
�-��
��������)��"�]����9���%��m���
�%���)��"�]��3�E���Z��0����0����+��=-/�������������-���-������K-���5=-]��-�

���t�>��/9D�����:�3�������3 8����= �-�= ���-�#�$�������������%�-���0�31-���0
��)��"-�]��)�-9
��=�0����0������=�?31�������:��H����������;2=��37�����
�%������������!������
������Z����R�-����
���0��=������3�:��s�93����3�Dx����������=��3'�3���@���0��'��<(����=]�U�6.4��%�����8�����-�=?

����������!9�����$�2�\=�'�0�)��"�]����9���%�����
�%���y3�'�0����3���Z����������-��R���;2=�����Z

�%�����������1�'��������������0��(���2��)��1���)��"�]��)������������S���c�%='�0���#='�m�3�����-r�3���

�����7�93��8����������;2=���Z��3�
���)3� �3��0�
�%�������=?��������-$��2��-������>���������*
����$������$�2�� ��%�
��>���+�����3'
�D 3�rk'����
�����
0���-�9������-9����-�)0
�����)�-9�����
�%�-�

����=>�^@�'�0�z=	��{	.�
��0����/���2='���3���=f���Z�8����h4-'�3-7���)=-��%�����
�%���
�����������������3��������������!����U
=
����)��"�]��R4<����;���0������|=<.�!�"�'�
��f@�

���L�������
���!}����������f����.�
���=>��'4�f:'�0��@>�������=f.�%������!<�����9�����8��%��
������0
�
�%�����#�$��0����=2=���
�0��%�����������
3����='B��
C�8������)
�/�(��U4�f:'�0�h=2�=>���9�����Z���3���������?�����-��(���=-�0���������-����-�
�%��
H���37��*�=��
�=�����
J�8�
�%����W��
�\=���L��.��������>���8��
�Z������������7�93���r�3���0��(���2��)��1������
�
�%�������R���������������0�)
�-/�(��U4�f:-'�

��������Z�h=2�=>���9���8
�%�����$��*����������
�D 3�rk'�m�3����3'��$��2�������m-��3��3-7�������
                                                     ��

1. Willem Floor,“Bazar, organization and function”, Encyclopedia of Iranica, London and New york. 
1987.pp.25-30. 
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�����s�2�%�EZ����3��
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���3�����R0��;���1G����MCQ�3	
��daP����8CP����CQ[Y5N�������3������-@>���)�9����-�Z3�

�+f�:��%�����3��3�����0����:��2�����������]
��3��H�����������
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���-9�������W@-����-'=���
0�

�50��!�(����MJ[�R0S��)���2�daP��-�CO���v�
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=�CQ[a���3-/����-�
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%����93������
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���3���8
0��
�������(��#0�����5=-����3-����W@��MdaJ��-�CggO�

9����CQ[P��-�CQdQ5��N��50��!�(��-���������W@��������0�������=-��F��"-����-����>��-���
��1/2�3'3��U
�]�������-��
�������T3E�����-�
�8����
���-��CQYd���
��`3-/]���CQ[C�����
��o�=-'�0�

CQ[P���)�4������_��������=�����������(��#0��03�@]��8����R�-��
��m�������1#�������%�-EZ�)�-9
����5=����3����W@�MCQ[Q5N�'���c���������(������������-��3���-�������(��#0��z=	��0������)�-�
��)�-9

����
�H��#���8�m���`������-�#�n'3?���f�������
���������!��-#��)��0�s-�2MCQ[a5N�����y�->��-���
�������(��=�?�8������)�9
=:����9�+����������3��������������:-/.��3"-������%��o?��<�3�Z�R���

����o�='���/�##���������������'������(������.��������=��T=�2�0�`����3��mA���8�����(������-���-9
                                                     ��

��'#-"���
$�6��������������
���-#��
�
$
�
+�
�E��&:�^��;�^I'��
|=-�2�"�$/�hf/�0�K)+�
 	��g+�i0�=�� 	��g+����+��� %=�� =����"���������K�+���"�����N�>�#G��
��69e�b

�������������3b���b���$"#b0� 	�b�g+�1H���/"��"�#��� =�� H��"��"3�%�"�
$x34#���\�=����$�6\"#}�"�K7"���1b���/"
��"#G0�
���69e�����d3�����"#�"� )7"��$����� k&#>kH�2�"�$�������������N��bh�
`���"#%�"�$���-�/"� 7#0�d#*��"����

q�#(������4�	��%F	"��$��E-"� G)e���O,	"��0��"#�"�2%7����"�"�����"#�"��#�).�K7"��$���3	"�'�'YZ��
Bekir kütüko�lu
 Osmanlı- Iran siy�si Mün�sebetleri (1578-1590)
 Istanbul Edebiyat fakultasi 

Matbaasi
 Istanbul 1962
 ss.7-29�'�
2' M. Fahrettin
 Kirizo�lu
 Osmunlılar’ın Kafkas-Elleri’ni Fethi (1451- 1590)
 Türk Tarih Kurumu
 

Ankara 1993
 ss. 267-80 
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����3 �8�����R�=��
����0��7��3@7��daQ���)3A9���
������R=/��������������
�m �������-�3���\�-_0�
�����h= ��
���3��������3���%��0����:�3f:#�U
03_��
�c�3�����������3���������9� Z�#0�+�����-�
�8�

���������\�_0����������2='���������(���W@���������3.������������3f:#���)=�����3��M�������?daQ�
9�����CQ[Y5�N���3�����0�����3f:#����)�9���0�3����
�R�����)�9���-$����pG�-����-����= �-�= ���-�'

��3��������.����
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����3 ����� ������c��������+������3';��2���H��0����
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����������
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=>3��)��8�������T����������V3����s�2��)�9
����(�����?��������:�3f:#��@
����
��3��%���f����@E0��3���%0���������3�����������(�)�9����1(�
��

�������>�������������3�%�!�S������%��3?�
������9�B��
C�8������>��3?s�2���
0������)�9*�K�0�
=G�����
J�8�������!<�h
�m ����������
���=>��������%��T����)�9�Z��9�3/��.����)0
�0���=��3_������-9���

����������
8��
���������s�2�&�
�'��$#�W��)�3��3r�����������=	
�3"(�
�������(�0���3���)�9��������-$/�������=-�

�����
�����������0
��0��
�����0�3��U�(4G����
�������������������-��(��-#0���-7�2�)�9����7�=-7��
s�2������9�?����)�9��Z���0��1�Z���=���:�3f:#�����9��0� K�0����������\�-_0��0�pG�-������-���3n2�)�9

�������-.���0��931���(���2������9�T��������
��
����=208���

�?$��� ��@&��
�=��

����(�����?�3���%0����@E0��������������E������?�3���%0����%3��M��$�
��'��N����L1��%���f��������3-'
���
����3���:�3f:#���������������>�������1(�
����3�����������(�)�9��������-���5=����3����W@��8

                                                     ��
1' �brahim Efendi Peçevi
 Peçevi Tarihi ���$6b�������b��
  Haz���������ırlayan: Bekir Sitki Baykal
 Kültür ve Turizm 

Bakanlı�ı
 Ankara 1982
 C.II
 s.39; 

��|�0�2F4�3�4"����������������������������#Fb7�"���Bb�#+�2b�"��3=Fb�6	�
�6b7�����b������6b���"#b����])��#*+�a�6��
��"/
 �����/�"� M�0#)M�0�3	"��'�'Y�Z 

Ahmed pa	a Hasan Beyz�de
 Hasan Beyz�de Tarihi ���2Fb4�����b��0�|b����"/�� Hazırlayan: 	evki Nezihi 

Aykut
 Türk Tarih kurumu
 Ankara
 2004
 C.II
 ss.261-262 
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=v.�8��0����������-��
������?��	W"���f����%��o?�������������-��0��3-���-9
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�%0����������7��������<W����������������)�9���0����R�/������3��
��U�.=��
���������� �%�<	]�8����(������?������>����
���'�������ox��0��=�9�7��?+�������-��
������
���!-<���

�3�8����
��0�����
0�����=>���
=�k�MdaY�-�ddJ�9��M������������m-���0����3����>
�'�'����3f:#�H������
�����9�x������Z�R=/������%����+�������='�������$��0�)�9���
�����������-E���0���03�����S0�%����-�

�@]��������(�03���=�x���8����������R=/���-����-���: %���%��o?��@E0��3���%0�M���;-2
dJO�9���M������-���
�����5=����3����W@��U�	�#�������3��	�0������������0����0�3-��)����-9�0�c@>�)�W(�������W@����`�-?��


�0�������:��3����6(�3�%0�5�<������
�0���$���������	8��

p��='���)�9����(�����?������;/��%�<	]�3	��
���
����ddO�)3A9���������
��0������=-�(��-�
�3f:#������3�)����������A���
zZ�������=-�������3��8������
�����-��(���x-�CQ����/$-��ddO���CJ�

��= Z�CQaQ5���������R=/������%����)=����3����3.�m�3/'�0����
�������-��?������R�-����-�9���v-�

������'�������
�D �)�?�31���������8����(�����?���o?���%�����m�3/'�
��~]='������������3-r��3����)
�-���

������
���U�����'=��0����1 ����L:�)z�����<$#�ddO�9��)3-A���
�dQ��#�-��������3��-���0��-�D 
���7
�����3x��y�>����3f�
����
��+��
0
�8��

������!�#�����������(��
m����>
=������(�)
�D 3�rk'����-��?���������0��%������-��(�U�-.=���
����-�
��3�������f����
�)0�0�����=�����8�)�3���=���&�
�'�
���f��4����=>�������
0ZB��

                                                     ��
1' B. kütüko�lu
 s.38; Tarihi Osman pa	a �������b����b�g+���b����
  Hazırlayan: Yunns Zeyrek
 T.C.Kültür 

Bakanlı�ı Yayınları
 Ankara 2001
 s.6 

2' Peçevi
 C.II
ss. 43-77;  

"������3=F�6	�
 k=��|�0��3=>��� 
��!"#��������$%�&������� k&#>kH�2�"��#���������� b���b���3b�6A�Z@���b�g+����b��������b���
��������������3���6E=%�"��	"������#}���67��"3�%,���0�
��6�	��E[�"�� >�����"�#���1�j�C�'�'Y�Z��
|�0�3=>�"�� 
��'!

"#���$%�&������
 	"6[��K�+���"�3�G��R�G*��
T��
:�V�V' 
.���g+�i0�=��/"��6���"#����])�� 	"��3.��0� 	�����g+�������#&�KO	��"��4����"����])����=(������#&�����"��3	"�'

��%9A��0���!-e���������2%9A��0���])��@�9e����g+�$���f������g+�2�#?f����	��������u�0��"��67#0����3�9b��1���
��0��C1�"��o���"�����g+���O��'Y��Z��

Peçevi
 C.II
 s.85; Müstafa Efendi Sel�niki
 Tarih-ı Sel�niki ��� >�	!b������b��
  Hazırlayan: Mehmet 

�p	irli
 Türk Tarih Kurumu
 Ankara
 1999
 C.I
 s.149. 

4. Sel�niki
 C.I
 s.164.�
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�������������\=�"��U�
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�'��T�
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����'�!-e��������������g+� .!7"�N�9e����0����� ��������3F�6	�Z@���g+�������� b)+���������ib["6���bh�
=��#?Q"#���0��)7���������
1�"���&� ��60���Af�r6[6��2�"�/"�
�	�����������60�d�#,��$�"67C�'Y�Z��

�Peçevi
C.II
s.85. 

��'T�
����J
:�I��'��
����69e��,�����#������ 0�K�H���0�
�#E���1����������9�)7��0� ��"�"5���b�g+8��������� b��$�"��6b7��"���b	�����f�/"�
������3b	�#&

���g+������qOH��0�"��@��	30�C ��3	3	"67'��
�'����g+����� ��$��f����$3=?"�z6�+��0��67����	�������"�#���1�j�����
�%�sA�����D�����"����69e��&�3=&

1�"���#&�i�.���i).�'Y�Z��
Tarih-i Osman Pa	a
 s.75. 
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1.Tarih-i Osman Pa	a
 s.17. 
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3.Tarih-i Osman Pa	a
 ss.23-24; Peçevi
C.II
 s.38. 

0�1����2%�
T��
:��^��'�������PHp����g+������3��k��/"�
� ��u�"
A�2�=��w�)9������67�$���3��Z��
���� -#A�����1�j��2�"� H��"��3	"'�''���������1b�"6����Qf�u6b7� b%�j�����3��i."������`�����w�)9���,).�'��1b9�

�k��1k��������1b�"���#&��\�4"���%F0�����0�"��#����6�"#�������"�� 	3,��Qf����'�����#�b���b���/"���
b0�$#b�	
 �������D��	��&���sA@#&�C��������3���%7����f�$���#0� )����1�"�'��������� 	�b	�A�/�0�
#���2�"�#0�u�EH
.�$!�%�"����/���

 ���&/��0��"�#���/"��k�#0"���0��0��&� ��T�0�K��2�"�/"�2%�sA���M=��
3=%?��#�3=%7"��'Y�Z 
Tarih-i Osman Pa	a
 S.24. 

��'������� 	��g+�i0�=������E*.�2�"���	@u�"�C1�"�'����������g+���������� ��o�"�1���"������3F�6	�Z@������1b�j���kb�#0"���b0
 ���%F0�u�"�����"�#����6�C�'Y�Z��

Tarih-i Osman Pa	a
 s.28. 

��'$�����"�����������#0� 7�����3��d#*�������G��?�/"� =�� H��"���EO%�"����1������g+������������1b�"��3b���"#>��
�	��'���b0
���%9A���g+�����������#����0���}��������0�
@�#�0�
�3�f���EO%�"��0� =�� H��"����������%�"#?"#0�������#�Fb�����"�� ��b�

� 

��
���
���
�	

�
�
�
����

��
�
	
����
���
��

���
��
���
��

���
��
�

��
��

 

Qa 

 



|
=-

�
$6
9e
��3
=0"3
7�
3�
G�
����
�3�
+��
�� 
	��
g+�
���
"#�"
�$
��

 

 

Qd 

 

�������������Z�
0��3���]��>������0�`
��5�f�����%��o?����?��	W"��������50
%
���-���:- %�����
�����3 �L��"'�8������������������0����?��	W"��5�7�9��0%��: %����@(��3r���������
�-����-��D �5�-�'

�����������3����/@E�%��0�����37���
���03����������3���50
%
����������83������������-���3-�����?��	W"��
�������3��|4:]��������=��
0��+����������#�>��
�50
%
����=	
���x�����03���
����������������-��0�Z����-2

���@�.�������0�����������F3��0������%�)��3������2='����0������
�����3� ��9��3�����50
%
��U�A����
��-]
�����9�=����8��0���+�?��������-'��-�����: %���%����
����-7��3@7���%����������x-����
��3-��0��-9���-��k�
=�

��7�����������3����03�����u�9���������Z�%��H��������
���3�%����������3����#=j���8����-�Z�%���>3����.���
����~�@f'������
��?�
�����#=j���%����)�9��:��:�?��	$����m������3��8����(�5�A��3�����?�-����

��l3���)
�D �0���U
�%0�;"�������0���-�������3�D-?��
���#=j�-���-�������������03�-��
����-�����-��0���
���3 �L��"'�8�����������F�3"����@(�T�����3��
���������Z�`3'����03���
��������%����������-@�.�%�

������(�3f:#��: %���%��o?�����/#m]��������8� 

��&�
�'����(����?�r��.�����%��o?������s�2�V3�������-��
�-'�'����3f:-#�0�0��y3�:��)�9
���)=	
���x������%��3?�8����(���W@���������������3���������������=>�����3����>�
�'�'�)�3 �����

���=������������|�q/]�����0�o�3����
�%���������03�������0��03������
�������(���x�����3-��3������=	-

�����
�)
��	8����������
���)�3 ����������3��0�
��3��)�3 �R��(�����
��������s�2�����(�����?�����

`
�����>�������>����
��)=	
���x�������3��������(���?������
������U�A����!��E�,(���0��������3� 
���������Z���f��0���3�����x���������(��3�%�*����=����f�������Z�
�8������!�]����)%03�?�%0
�)��3��

����3��h�/#m]�������Z����3��)�93��%�������������������2�
������=��������:��s�2�
����������/#m]�0
�������������>����31��%�����������=��F03$������X3��0���w@����
��������������>�B��X3��������)�9

                                                                                                                            ��
����3	�#&�2����"�#��q�"�1&#4C�'�������d3��/"� >�� 	��g+�i0�=���&�1�"� =%9A����������
�"�#�b���b0�"�� kb&#>kH�$�b�

���1�"67����0�2%9A������������������ �����69e��])��/"���	f��3�	����$"#0��O]=��2�"� =�� H��"��#>��$���3=	"��'�� 
��'!
"#��������$%�&������������b����b0�2(�� 	��g+��������/"��"3�%�"����6E	�%�"��0��"�#��� H��"�/"� 7#0�1kA/�0�/"�
�	�
 �����f�'�'Y�Z��

Tarih-i Osman Pa	a
 s.28
 31; B. kütüko�lu
 s.27. 

0�1����2%�
T��
:��W�'��
1.Tarih-i Osman Pa	a
 s.29. 

��'������������������"��Pb�)>��2b�"�
���/�"� M�0#)M�0�������"#�0���#>0������ M�0#)M�0������D�����
q)4� M�0#)M�0�����3�G�
3=%?#�s}	�'�'YZ��

Tarih-i Osman Pa	a
 s.30. 

��'
����:��^;^�' 



 

 

����������������-��!-��%��
��� �-�����!<(�������=��;�3E�0�;�A(�
�<�Z���
������/�����3-���8�������-�=�
��������������������x��0��9
�'�'����h�/#m]�3f:#�U
�E�
��m����>�����#�9��������m������(�����?��H�3��

���: ���E��1�Z�|�%
��0�T�/���%��0������8��
�%��o--?���=	--
����--f���--�����3-- �o--?��--��+--����)
���--��)�--9��--�S0�%�� �

���03�--��-->��3?�8���3--?�����@--���%3--�����-->3������3--�9��%3--����m--�.����m9�--������-->� �
���39��������3'���>���������@]�5�������>��������������D �3����0
�%��
�"����	�@>�0�
�2�]���>��0�o?

�����f��%������������� �����?�`��]����������������+-'Z��-���
�31-���0����:��0�`
��3�����?��	W"��
��:�	8����Z�)=	
���x����������� �����(�)=������?�����
��>����
���8��&�
�'����(�����?���h
�m- �

�����%�
������s�2�����%���������
0Z��/@E��������������3�����x���$W]�����������?�8�L�6(�3f:#�)
��
R��(�������3r���m���
�'�'�)�3 ���=/�������0�
�'��
�3f:#��������=	
�0���
������0��-��3������)�3- �R��-(���-�

�����3 �)3����8�(��������?�����������
3��
������������������-����-��
�-'�'���x-����������3���s�2�R�/��
�
0Z����������
��>������)=����3��y3'����
��8��~#�����
��
������3.��@(����(����-��?������-��
���-��

�����������=�B��

�888����������Z�%������������3��L��"'��U
=:��%��o?���������������>����31������2�����0�\�-��
������ �36�
�����0������$@]��]�����h�/#m]����$'�U3������3��������������-���-���-��
���-$@]������9

��=��3<�����A�Z�
����������0
�����Lf����
8��

                                                     ��
��'
����:���' 
��'
����:���' 
��'
����:��I;VU' 
��'
����:�VW�'�2%?��1)+�
 k=��|�0��3=>�"���g+������)�-����3=0����0�"��� �/�0�#�/�$���3�6A�Z��

���g+�����������������+�$��%?#A���������1F>��/"�w���6������������������
�3��o6����`�&����3��/"�3��#A�i)]��$"#A���$"
1?��3=0���q	�-��0��%7"3	"�"�� 7�����,).�
�%?��	��"#?�
-'��

�����2%?��1)+� >�	!�������+���g��������������������������}����-�m94��
�M	"��0����"�#�03��2F4��� k�3	"����
3=0����0�"��
�� �����69e�N!�4�/"�N"
��c���� ������"���f��0�N��9%��$#l	�$6�����������"�
3	"��������b���� 9]*��3�6A

�����
���/�"��0�1kA/�0���M=����g+���������� H"��q*=�����"���������1���A�3=0���1�
&#���0��"�#���$#A������b�g+���b����
���������1?��3=0����0��67�1�j��1(%��������"#O%�"�$"#0�
�	�'���u�EH
.�DO	�/"�
2�"#0�=0��2%7����"�"����������g+������

� �	�������0� =(��N#-�����0����f�'�0��2(��
���A���g+������1b������������f�`b��
	�/"��6b7��"�"#b�/�<3b��0�#b�
��������1�"��3���"����"64"#��������$%�&�����=(��
�	��� ��3�y���"��D�3=&�'��D�b0� ��bAf�$"#0���2b�"����#b�����
���b0'Y�Z

0�1����2%��
T��
:��^������
Sel�niki
 C.I
 s. 125; Peçevi
C.II
 s.44. 

 0�2F4����}�������
��"/���g+�����1k��
3=0����0�2%?����M=��"��� ��#9	��"
��3	"��'�'Y�Z��
� 

��
���
���
�	

�
�
�
����

��
�
	
����
���
��

���
��
���
��

���
��
�

��
��

 

Yg 

 



|
=-

�
$6
9e
��3
=0"3
7�
3�
G�
����
�3�
+��
�� 
	��
g+�
���
"#�"
�$
��

 

 

��������������������3�="'����%��.3��
����3���]�G�0�)
�/2��3	��������������8���%��o?�~#��
���������0����
��)����3n2�~�
='��������
��3	��V3�� K�0��)�9�������-���Z�
�������5�=]�������%��3-?�0

���7�=7�9������U
��%�0����
�'�)���� ���)�9����
����
�������&�
�'�%��+�������
������V3���=>���9�
��������$�����$����5�=]��
=v.�%��0M�h�/#m]���/��N����������0�pG�-�������
�������
�	��0����7�=-7�

�Z�^��0
�������(���x�����������������������?��
0Z�8��
�������������3��T����;#�W��%�������c_0����Z������)�9%0
�
��3f:#��.0
������
������0
0���%�EZ��

��������=/��;�����8��f�����
���?�)�9���������
m�������������x�������?�+�-?�������-���-�3.�%��
���0����
�������)�9����3	����%�������6����='�Z�������
����8���37���)=��%�����������3f:#����=>

���� Z����@�.�3��3��
��������=���������=	
������������������='�8�����������x-���-.0
������-����\�_0��

��9%0
������@�2����)�9��������~
0�3�%B��

�888�����������L��=����
����L:��50
�%��3f:#�����
���������%0
�39�8�����;#�E��
�6��������)��r��
�
��������������)3x��U�(�G�0��9%�0�U4
�0�5=
�����
��9%0
�������-��0���3-����->�3f-���L��3�

��������
� %0
�R4��0��#�.���:�3?����L����
D �888������-�Z�%�����-�
�m���?�L�=�����50
���x-����
�L����������888	8��

����������������������9�x-��R��
���
��-��������t
�]����50
%
��%��3f:#��������3.����������?��	W"�
����(�����?�������%��o?���=����3����A�����)%��%��$@]�����������03������3	��%��t
�]�-��F3"����0��-��

���: %���50
%
�����8����3f:#�����F�93�������h
�m ������(�c�����������=�?�%�EZ�
�������3f:-#��-��
���
�'�'���>�)�3 �������=��������������-��(���-���?����3����������0��=->���9�=->�����R��-(�h
��3-��

)�3 ����>���������2���Z�0���37���F�9���03���%�����=	
�����
��03�����
���������

8��
                                                                                                                            ��

Hasan Beyzâde
 C.II
 s. 271. 
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Hasan Beyz�de
 C.II
 ss. 273-4< B. kütüko�lu
 s.104; Peçevi
C.II
 ss.55-56; Tarih-i Osman Pa	a
 ss.62. 
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Peçevi 
� C.II
 s.68; B. kütüko�lu
 ss.110-114. 
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 C.II
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1. Tarih-i Osman Pa	a
 s.88; Peçevi
C.II
 ss.90-91; Sel�niki
 1. C.I
 ss. 162-3.� 
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1' Peçevi
C.II
 s.33; Hasan Beyz�de
 C.II
 s. 261. 
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3. Hasan Beyz�de� Ahmed pa	a; Hasan Beyz�de Tarihi ��s�����.�&�
�'

���%��  hazırlayan: 	evki Nezihi Aykut� Türk Tarih kurumu� C.III� 
Ankara 2004. 

4.Kirizo�lu� M.Fahrettin; Osmanlılar’ın Kafkas-Elleri’ni fethi (1451-

1590)� Türk tarih kurumu� Ankara 1993. 

5. Kütüko�lu� Bekir; Osmanlı-iran siy�si Mün�sebetleri (1578-1590)� 
Istanbul Edebiyat fakultasi Matbaasi� Istanbul� 1962. 

6. Peçevi� ibrahim Efendi; Peçevi Tarihi �)=q?�&�
�'��  hazırlayan: Bekir 

sitki Baykal� Kültür ve Turizm Bakanlı�ı� C.II� Ankara 1982. 

7. Sel�niki� Müstafa Efendi; Tarih-i-sel�niki ��f��4��&�
�'��  hazırlayan: 

Mehmet ip	irli� Türk Tarih Kurumu� C.II� Ankara 1999. 

8. Tarih-I Osman pa	a ���&�
�-'���-��(���-��?��  hazırlayan: Yunus Zeyrek� 
T.C.Kültür Bakanlı�ı Yayınları� Ankara 2001.�
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